8 7

owe
Y17142A-00

SH
1

THIS DOCUMENT AND THE INFORMATION CONTAINED IN IT ARE PROPRIETARY AND
CONFIDENTIAL TO OFT. NQ PERSON OR ENTITY IS ALLOWED TQO COPY , REPRINT,
REPRODUCE OR PUBLISH ANY PART OF THIS DOCUMENT, NOR DISCLOSE ITS CONTENTS
TO OTHERS, NOR MAKE ANY USE OF IT, NOR ALLOW OR ASSIST OTHERS TO MAKE ANY
USE OF IT UNLESS BY THE PRIOR WRITTEN EXPRESS AUTHORIZATION OF OFT AND THEN
ONLY TO THE EXTENT AUTHORIZED.

COPYRIGHT-OFT.

NOTES:
1. INTERPRET THIS DRAWING AW ASME Y 14.100M.
2. MATERIAL: SEEFN 1.

(BASE MATERIAL: ALUMINIUM ALLOY SAND CASTING A357 T6 PER AMS-A-21180 CL12).
CASTING DATUMS: A,B,C ARE SHOWN ON SHEET 3, FOR REFERNCE ONLY.
DEBURR AND REMOVE SHARP EDGES APPROX. 0.3X45°.

GENERAL TOLERANCES ACCORDING TO ISO 2768-m.
QUALITY ASSURANCE PROVISIONS:

S S

6.1 QUALITY ASSURANCE PROVISIONS FOR THIS ITEM PER RDMQD0C012P.

6.2 MAJOR CHARITARISTICS NRS 101 TO 113

7. PARENTHETICAL FIGURES ARE FOR REFERENCE ONLY.

8. PACKAGING AND PACKING:

THE FINISHED PART SHALL BE PRESERVED AND PACKAGED IN

ACCORDANCE WITH COMMERCIAL PRACTICE.

A IDENTIFY PART PER MIL-STD-130 RUBBER STAMP WITH EPOXY INK PER A-A-56032 TYPE Il
IN CONTRASTING COLOR. CHARACTERS MINIMUM TEXT HEIGHT 1.25 MM. -
OR IDENTIFY BY LABEL, MEETING REQUIREMENTS OF MiL-STD-202F METHOD 215..

LOCATION APPROX. AS SHOWN.

SHEET REV STATUS

REVISION RECORD

ALL SHEETS ARE THE REV | ECO
SAME REVISION

DESCRIPTION

DATE

APVD

ot

Fraaza

0715756A-0
REV(D

4X M5X0.8 FOR HELICAL COIL INSERT Y

Reloased

30-Apr-18

IzSJul—ﬁ 0. Berman

L. Goldshtein

57+0.1

@370H7

(+8.057)

~
y

TN
l/ A

0.8

o]

L

\ i
RN

=l |

| [9003]E

AEREEE

]

Z

Blo2]a[B|C]| —’[ '
4
d

o
&
m

)1, |
; DRILL T 14 MAX.
% ) THD PER SAE MA 1567X1.5D %é
[©]¢ 04[D]E] secToNAA 1A
SCALE1:2
—= 23207
r 1 18
&
=/ [\ -
+0.021 \ ¢ / T_ +0.15 6X 3XM6X1 FOR HELICAL COIL INSERT
ol 022 H7( 0 ) 0,021 345y DRILL 15 MAX.
CHAMFER 1X45° 2017('5 %% | sEcTioN Ep. o THDPER SAE MATSG7X1.5D
REAM ¥ 32.5 MIN. £ [0 04]E|H
)6 00 @[ 0[] et SCALE1:2 (&
0 SCALE?
\ 7 XR29.02 32/ 18/ 08 SEE SEPARATE PART LIST
‘ 2 V V) SEE ATTACHED MEDIA
35 — f 1 6 1 ED! o
0.8 UNLESS OTHERWISE SPECIFII : SIGNATURE| DATE 2 ORDNANCE FACTORY
i ROSOE [ g ] 6 oo
pp— CHECKED me ~ FOR: BASE ROTATING
SECTION C-C o FINISHED
SCALE1:2 ZX2.75X45 SLS.IEEAN%TE,; T 322?;24 HOSIRDO °ﬂ Y5) 90| BASE ROTATING, MAGH | __
DETAIL B 15t ANGLE PROJECTION OFFICER/PRODN | 4 OF: 12.7MM SRCG
, | .E_ @ OFFICER/QC SBE 2?;152095 DWGN°Y17142A,00 |REV
(WEIGHT APPROX.: 7.70Kg.) PROJECT OFFICER| SURFAGE TEXTURE N M| OFFICERIDDO C@/ %\R [ SchLe 12 | AUTOMATEDDRAWNG(SW) | seeriors
‘ \
8 l 7 6 A 4 3 ] e 1




7 6 5 * 4 3 | lDWG Y17142A-00 ISHZ l l 1
——28H9('0%%)
2X M6X1 FOR HELICAL COIL INSERT
DRILL T 15 MAX.
THD PER|SAE| MA1567X1.5D o/ T e—{ 25|
{0 03|D|G|J : G
[p]a[y] e
“ f
‘ Y \) L
\
—— T—T
4X M5X0.8 FOR HELICAL COIL INSERT 501 4% M8X1.25 FOR HELICAL COIL INSERT .
DRILL T 14 MAX. Lo DRILL ¥ 18 +0.5
THD PER SAE MA1567X1.5D - - THD PER SAF MA1567X1.5D 8X M4X0.7 EQEF%LB/RAL A(;OIL INSERT
S5 28 )/ @l - ‘
L e THD PER SAE MA1567X1.5D
=, L $[e 04]][c]
| | = X5 X175
T\ O @) e} 0 =)
¢ Y
O o) I 9
1
8] |
O o) )
i ) | L
\ I~ g | % E
o o
15 15 19X 62.5
O o) 6D 450
[o]
a0x 66602 THRU 2X P6HT <18183221
o o ©66 5" THR @ OPTIONAL TECHNOLOGICAL HOLES
| {0040 |D|E]|
9 i © -@
O
7 - —[8X31
O rev () o o o1t
. . J
(@) 0 [0) 0 ) ) ) ) (D ‘© G —— 1
J 3.2
s 7X 155 — 5
2X M5X0.8 FOR HELICAL COIL INSERT — —~{51]
DRILL ¥ 14 MAX. (58] 158 (36]
THD PER SAE MA1567X1.5D ~{51] . .
[0 04[o[e] e
- 450 -
SIZE CAGE CODE DWGNO REV
D | 2281A Y17142A-00 -
SCALE 11 I 'AUTOMATED DRAWING (SW) l SHEET 20F 3
7 6 5 A 4 3 s e I 1




7 6 5 * 4 3 | IDWG Y17142A-00 ISHs I | 1

CENTER OF DATUM B

o7

i SHEET 3 - CASTING DATUMS (FOR REFERENCE ONLY)
-% 2;;::05 DWGNOY17142A-00 '
SALE 11 |  AUTOMATEDDRAWNG(SW) |  SHEET3OF3

7 6 5 A 4 3 Do | 1



OFT | ASSEMBLY PARTS LIST

Assembly Parts List For: Y17142A-00 Rev: -
Status: Released Description: BASE ROTATING, MACH

_n
P
*lo
g

1 C 071576A-00 BASE ROTATING, CASTIN P 1 Each

USE OR DISCLOSURE OF DATA IS SUBJECT TO RESTRICTIONS ON THE TITLE PAGE

SHEET 10F 1



